Q1: lfu=2x’y*—2z° where x=2p—-3p°, y=pe*’, and z=pcos(p), use the
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Q2: If v=x"cos(y)+ye”, where x=s+2t and y=st, use the Chain Rule to find
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Q3: If z=y+ f(x*—y*), where f is differentiable, show that y—+x—=x .
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QUICK TIME!

(@)  When is the directional derivative of f a maximum?
(b)  When is it a minimum?

(c) Whenisit0?

(d)  When is it half of its maximum value?
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Q5: Find the directional derivative of f at the given point in the indicated direction.

fx,y)=x’e¢” , (-2,0)
in the direction toward the point (2,—3)
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Q6:  Find the direction in which f(x,y,z)=2ze" increases most rapidly at the point
(0,1,2). What is the maximum rate of increase?
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